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Esercizio 3
(a) Si ha
F(t) = (W (t), WD) = (—2sint+2 sin(2t), 2cost — 2cos(2t))
da cui

Iy (@) = 4sin®t+4sin®(2t) — 8 sintsin(2¢) - 4cos® £ + 4 cos’ (2t) +
_ 8costeos(2t) = 8(1—sintsin(2t) —cost cos(2t)) = 8(1 —cost).

Pertanto o o
Uy = / Iy @ dt = 22 / VI=cost di =
Jo Jo
2 T
= 4[ sin (t/2) dt :8/ siny dy = 16.
0 40

(b) 5i ha
2w 2
/ ydo —zdy = / ()i () —m (v (t)) dt = [ ((2 sint — sin(2t)) -
Jy 40 40
. (28in(2t) — 2sint) — (2cost — cos(2t)) (2cost — 2 c:os(th))) dt =
27
= — / (4sint - 2sin® (2t) — 6 sintsin(2t) +4cos® £ + 2 cos® (2t)) +
0
' 2
+6costcos(2t)) dt = 6 [ (sintsin(2t) +cost cos(2t) —1) dt =
J0

2
= 6/ (costml) dt = —12m7 .
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